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1. SR PIfRd R W Teahl AR Sfed @ 1x8=8

Choose the correct answer from the
following :

(@) RS 0T (R ‘4 B SREl, TS
TR g RAF MR e IR
A farE o[ FER Fb ORT | @R
TOS (I SoIAGRREA ?
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(2)

Who stated social problem as ‘a
condition which is defined by a
considerable number of persons as a
deviation from some social norms
which they cherish’?

(i) FoR NF D
Fuller and Myers

(i) IR A VAT
Raab and Selznick
(iii) 99

Blumer

(b) ST (B! AYH I AT SN PR
R =2

Which one of the following is the
main cause of social problems?

(i) 2rfeRm

Technology
(i) BYS

Economy
fiii) wR@e!

Poverty
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(c)

(@)

(e)

(3)

@+ ¢ Indian Red Cross Society
ofSHt et 2

In which year was Indian Red Cross
Society established?

(i) 1920
(i) 1921
(iii) 1922

Sociology of Indian Society WF
TFIR (T XA
The author of the book, Sociology of
Indian Society is
(i) 5. = *%3 |8
C. N. Shankar Rao
(i) I =
Ram Ahuja
(iii) <. (F. SGOH ..
S. K. Bhattacharya

TS N TR T 5T IR WS oSS
FRRE ?

In which year Raja Ram Mohan Roy
formed the Brahmo Samaj?

(i) 1821
(i) 1828
(ii) 1801
( Turn Over )



(4)

() SRS R (T TRIF SPH FPi
SIS SPHe wEe oK SwEe
N Zr?

Which Schedule of the Indian
Constitution declares the tribes as
Scheduled Tribes?

i) vg¥
Fourth

(i) “i%ew
Fifth

(iii)
Sixth

(g) THT AT I AR @ vve e
a2

In which year was the Employees’
State Insurance founded?

(i) 1950
(i) 1952
(i) 1954
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(5)

(h) SRe° ARITA ST @FE IS 9o ]9
?

The Planning Commission of India
was constituted in

(i) 1948
(i) 1950

(iii) 1951

2. wre fra @ R @ wiReR oY Gt fora
(ﬁff‘%ﬁ )QOWW@): 4x4=16

Write short notes on any four of the
following (within 150 words each) :

(@) TR SFPIR AL
Definition of Social Problems

(b) SPHe wfET 24 TPIPTR

Basic Problems of Scheduled Castes

(c) TER QT TS
Corruption in Public Life

20P/290 ( Turn Over )



(6)

(d) PR I’ T IRPE

Major Factors of Population
Explosion

(e) TET oo wef
Meaning of Social Welfare

() TNES FAreR oFg
Importance of Social Security

3. wIRB ens Tas o, 2ifCh1 1es < whitss (2Rt
¢oo *¥J fooge) :

Answer four questions, taking two from
each Part (within 500 words each) :

J9—> / Part—1

(@) TRE TR @ R R ww
FEARFEPIRY SIS AL #4 | 4+10=14

What are the characteristics of social
problems? Give an analysis on its
consequences.
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(7)

(b) TR wY 7 Craeds 791 TRE TP
oo T IRPHE W FM 1 4+10=14

What is the meaning of corruption?
Explain the causes of corruption as
the major social problem in India.

(c) SR PRPFR TPIPTR i 99
GG SHIRTEHT | 14

Discuss the problems of children in
Indian society.

(d) TSI RO TS TR TR T
TIPS e for | 14

Analyze the problems faced by the
women in contemporary Indian
society.

yo—3 / Part—2

(0) TASTES ANHT FOW GFY TS
A P47 14
Discuss the importance of social
welfare in India.
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(8)

(b) SRS AT TR ~Boht R Reema
0 14

Analyze the background of social
welfare in India.

(c) T Farrer oY I 591 | ‘TR Teoifs
qF SRR BRI Aems w01 4+10=14

Express the meaning of social
security. Discuss its origin and
development.

(d) SR TR ~bpfe TRe e wre
ANEE TR NLFPHR WA 40 | 14

Explain the differences between
social security and social welfare in
the context of Indian society.

* % %k
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